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26. Refer to the following figure, producer and consumer surplus at the point of market efficiency is

represented by area(s) - Total surplus would be maximized at price = , and quantity=
?

A.a+d; PO; Q2. B.b+¢; P1; Q1. C.c+d; PO; Q2. D.a+b; P1;01.

27. Consider the following table of long-run total cost for four different firms:

Quantity |1 2 3 4 5 6 7

Firm A $420 $680 $980 $1,320 | $1,700 |$2,120 $2,580

Firm B $180 $350 8510 $660 $800 $930 $1,050

Firm C $1,200 |$2,500 |$3,900 | $5,400 $7,000 | $8,700 | $10,500

Firm D $450 $900 $1,350 | $1,800 |$2,250 |$2,700 $3,150

Which firm has economies of scale and then diseconomies of scale as output increases from 1 to 7?
A.Fim A B.Firm B C.Firm C D.FimD
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28. A profit-maximizing firm in a competitive market will always make marginal adjustments to
production as long as

A. average revenue is greater than average total cost.

B. average revenue is equal to marginal cost.

C. marginal cost is greater than average total cost.

D. price is above or below marginal cost.
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In a closed economy, Country XYZ, there is only one credit rating agency, Woody's.

Woody's annual charges for its credit rating service is 80,000 XYZ Dollars on each client comparny
receiving the credit rating service regardless of customer asset size, past period business relationship with

Woody's, and the announced rating level. Of course, the companies not requesting any credit rating service
incur no credit rating expenses.

The probability that Woody's give a low risk firm an A-rating is 80%.
The probability that Woody's give a low risk firm a C-rating is 20%.
The probability that Woody's give a high risk firm a C-rating is 80%.
The probability that Woody's give a high risk firm an A-rating is 20%.

The banks in Country XYZ determine the interest rates to the borrower once a year, using merely its credit
rating. In 2019, A borrower receiving a credit rating in 2018 from Woody's but not receiving a credit rating

in 2019 from Woody's will be charged by the banks exactly the same borrowing interest rate as a firm that
has never been rated before,

The mean interest rate in YEAR 2018 for an A-rated firm is 2%.
The mean'interest rate in YEAR 2018 for a firm not receiving any credit ratings is 7%.
The mean interest rate in YEAR 2018 for a C-rated firm is 12%.

The average outstanding bank loan balance of Good Inc., a low risk firm, is 3 million XYZ Dollars.
The average outstanding bank loan balance of Bad Inc., a high risk firm, is 10 million XYZ Dollars.

The decision making team in Good Inc. and the decision making team in Bad Inc. are both risk neutral.

(1) How much is the annual credit rating expense for Good Inc.? (5%)
(2) How much is the annual credit rating expense for Bad Inc.? (5%)

(3) Would the rating service payment by the Good Inc. increase if its management team members are risk
averse? Briefly explain your answer. (5%)

(4) Would the rating service payment by the Bad Inc. increase if its management team members are risk
averse? Briefly explain your answer. (5%)
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